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QUESTION 1

Which statement is true about Arc Sight Identity View? 

A. It uses the Arc Sight Actor Model Import Connector to populate and maintain the model in sync with your identity
Management System (IDMS) 

B. It is one core component of ArcSight ESM system without separate licensing. 

C. It uses the Arc Sight Network Model Import Connector to populate and maintain the model in sync with your Identity
Management System (IDMS) 

D. It uses the Arc Sight Asset Model import Connector to populate and maintain the model in sync with your Identity
Management System (IDMS) 

Correct Answer: D 

 

QUESTION 2

What is IAM an acronym for? 

A. Intrusion and Access Management 

B. Identity and Access Management 

C. Incident Account Management 

D. Identity Account Management 

Correct Answer: B 

 

QUESTION 3

What is the primary feature of Connector Appliance? 

A. Aggregates events to reduce the quantity sent to the manager 

B. Long-term storage of data 

C. Used to develop the Network Model 

D. Supports bulk operations on all Smart Connectors 

Correct Answer: D 

 

QUESTION 4

What is the name of the process that parses raw events and stores them into the corresponding data fields in the ESM
event schema? 
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A. Batching 

B. Aggregation 

C. Normalization 

D. Filtering 

Correct Answer: C 

 

QUESTION 5

In which ESM event schema group can the Priority field with a value from 0 to 10 (calculated using ArcSight proprietary
Threat Level Formula) be found? 

A. Flex 

B. Threat 

C. Attacker 

D. Root 

Correct Answer: B 
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